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LEARN CHINESE FROM MODERN WRITERS (WORKBOOK)
%
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1. CGRL1UER L, 24D
Receiver of action 52 (%)) (doer of actionft]) + disyllabic transitive verb.

“Receiver of action” be “verbed” by ““doer of action™.

These verbs in Unit 1 of the Workbook can be used in this structure:

XA 38 T 150 Wi /AL 40 R P A R S LB SRR 7t

i 1)
a. (e [, IMARVEZR AR 52 CRK) WAl
b. 767 E KK E R, IR HEHAZ 2 T AT FR 6

Hix/ANiEyEE ) (make a sentence)

2. (ZF 30156 2047)
S(VO)V #...... PIHAD
Sadj. ... H0,

S VO so much -- to the extent that .......
S be so adj -- to the extent that .......

What immediately precedes “[1] i 26 must be something unpleasant.

1)
a. P AL B8 K S RE R IR B2 N PR 2 AT — s L E B HD
b. PRI — ANk J UMBOR IS, W U 21 T BK H AR B

ik /NiEyEid ) (make a sentence)
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3. (3 3 Ui 1817)
...... , S fhifi VP
i fi is used to express the speaker’s disapproval of the S for VP.

(IKETR

a. [ A BRI A ER T N ZE 45, mlR At mim =ik b T — N AN LT
b. A BEEABBNR GF IFA LR 2%, ARt AN xR 2], B2t
Lo AACEEER T BLUEE 4L T o

HixANEERf1] (make a sentence)

4. (2B 4 U055 1047)
...... , S I VP, anyway; no matter what

(IKETR
a. W RIRAT AN S AT G #R AT, RIER— RESER.
b. RATUEAR b [ e L, IEIRA L.

HixANiE% 4] (make a sentence)

—: M riAiER). Make sentences with the given word(s). If there are
4 or 5 words, use a minimum of 3 words.

1. CGB1UER 151T) ZRZR
Blf): A NUCAMITI A R 5 A Bl HSEMITRISA A1 24
W2 B2 R
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2. (BB 2 DU 247) anyLE
Fia): SCARFEar BUR, HEERASCT T BRSPS, AT
YU R L 5 > B R

pal
=
[N
>
il
iy

3. (BB 1) #r

4. (38 2 00) EAfL S} BET G Ll

5. (B3 HOL WS WE %0
6. CEAT) WA ak @z B
7RSI RH R H g RE
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= [l I (e > S i DU AT ) -

L ks e s 2 HIAE RS2 4. AR A A e Ke
ASERN, BN TAEMA, BB RIR, 5557

2. LK BE TS SRl 5 R 5 (K /NBAT A 52




